PROFESSIONAL
i EXAMINATION BOARD
pb@’é%ﬁ”é”“““ Middle School Teacher
Eligibility Test - 2018
21-Feb-19 02:30PM-05PM

Topic:- Child Development & Pedagogy (CDP)

1) The method used in memorizing poetry is called:/ Hfqdr &I qlq H A Ugdd fafer =1
Hel o1l 8

1. Massed learning / TS TA TR 3T
2. Distributed learning / faafed fRren

3. Serial memorization / Qbi?-lcb RepERYY

4. Paired Associate learning / g&lﬁ Teatt iRy

Correct Answer :-

« Serial memorization / SFTHP AT

2) Strong believers in the ‘Language Relativist Hypothesis’ argue that

raerarard) uReeq ' Aogd AR erabgfe

1. Language determines perception / W@fﬂﬁﬁﬂf&ﬂﬂﬂ?ﬁ%l

2. Language determines thought / Wﬁaﬂaﬁﬁﬂfﬁﬁmgl

3. Language influences memory / Wwﬁﬁwﬁaw—cﬁ%l
4. Language influences thought / Wﬁﬂﬂﬁqlﬁﬁaﬂ?ﬁgl

Correct Answer :-

« Language determines thought / Wﬁwaﬁﬁﬂfﬁﬁmél

3) An individual who is lacking in achievement motivation would exhibit WA fad

rad e Suaf st wtgag_ ueRia swmi
1. Self-assurance / TH-ATHHA
2. Pessimism / ﬁTI’QTIEHTZ{



3. Pragmatism / dgRdlq
4. Positive outlook / GPRIHD TODHIU

Correct Answer :-

o Pessimism / IERIQIIGIG

4) Planning in inclusive education should be followed by ., gHTaeh fRrem o arer &t
_ & gRIUTeH fear i aifgul

1. Recapitulation / HIR-h Y

2. Evaluation / Hedidb+1
3. Implementation / SHraa

4. Assessment / b

Correct Answer :-

« Implementation / Hrafa

5) The RTE Act was enacted in the year: / Grﬂﬂg Srffraw EL | CLE:| Wm T YT:

1. 2010
2. 2008
3.2011

4. 2009

Correct Answer :-
e 2009

6) ‘Jack is a below average student in mathematics’. Which of the following tests would best support

he above statement?/%"@lﬁﬁwwmﬁ%l 'ﬁyﬁrﬁaﬁﬁaﬁﬂmuﬂ&mm
FYF T Taad U Ha1 82

1. Intelligence test / §fes; URT&0T

2. Aptitude test / S{FHJRT TRI&0T

3. Achievement test / SUTIe URI&0T

4. Skill based test/ PTRICT ST TRT&T

Correct Answer :-

« Achievement test / SUTTI YT



7) In Pavlov’s famous experiment with the dog, what was the term he used to describe the food for

which the dog naturally salivated? / ﬁ%mﬂm%mmﬁ, aﬁ'waﬁﬂm YT
o a®T IUANT I IS &1 quiH H & fore fovar mam o1 forgss fore m warvnfa® &u
¥ @R TUSTAT UT?

1. Unconditioned response / WYHTdH &H@Wﬂ
2. Neutral stimulus / & BE‘TW
3. Unconditioned stimulus / TaTHTA® 3{’,‘ EZ

4. Conditioned stimulus / &lﬂa'mﬁ RELCT

Correct Answer :-

« Unconditioned stimulus / SaTHTfd® G_Eﬁ'w

8) How many pairs of source traits did Cattell identify in his theory of personality? /

$0 T ST T 3 R & Wi e & e g feme
1. 16
2.32
3. 14

4. 22

Correct Answer :-

9) Teacher eligibility test is an example of which type of test? / e A e fFa yeR &
TI&I0T BT U ISTEI0T 272

1. Aptitude / Sffar
2. Creativity / goIRITerdT

3. Intelligence /‘g’@
4. Personality /a:l%c_qr

Correct Answer :-

o Aptitude / ST

10) In a learning friendly environment, the following characteristics are present except

ST & TP P ardaRuTH, %mﬁaﬁl@aﬁﬂmw@ﬁél
1. Learner autonomy / fRremff &1 TR



2. Multi-disciplinary approach / El‘g’-ﬁw DI
3. Teacher monitoring / e/ &1 FAIRE
4, Flexible process / GEIIRIERI

Correct Answer :-

« Teacher monitoring / fRref o1 FARE

11) In a language, the smallest unit that signifies meaning is called / fodt yraT ﬁ, 3 Y

A TN TR DA SPIE S P SEAI gl
1. Phoneme / S (GI-1H)

2. Syntax / AT fA=m (ﬁl%?ﬂ:f)

3. Word / X[eG (TS)

4. Morpheme / 0¥ (AT TH)

Correct Answer :-

o Morpheme / e (ﬁqfﬁq)

12) Which of the following statements best explains ‘intrinsic motivation’ in the classroom practice?

/ FrafafEd & A -1 $UF T G | '3(idi¥e IR ) Jad st dvg afofd sdr a2

1. The teacher encourages autonomy and gives choices to the learners to reach their goals. / fRrefeb Taraarn

DI TTd ol & 3R Rl &1 3% d&dl 7@ ugan & fo fawed car gl

2. The teacher uses praise and appreciation of a child’s work. / 218/ S & BTH DI IR 3R T
FRATE

3. The teacher gives a short break to have snacks and water. / QTW 1RdT GhT Ut iR & %Q Th @ﬁa
EEEGIN]

4. The teacher provides rules and conditions to complete the task. / B Earkal o oA & fog fgm
3R T Y& BT B |

Correct Answer :-

» The teacher encourages autonomy and gives choices to the learners to reach their goals. / fRrere Targdn

) MiTfRed SRl 8 3R Rienfigl &1 37 deal deb ugan & fod ey ear g

13) Which of the following is not a part of the process of memory? fafafeadd o= Wﬁ Gl
yfsrar &1 fowa =81 32

1. Storage / HSRUT
2. Retrieval / JT: e



3. Encoding / 3'_‘|$_||§]|
4. Motivation / IRUT

Correct Answer :-

o Motivation / aTUIT

14) Which part of memory involves forgetting unnecessary information in 15-25 seconds? / Wﬁf &

5T URT 1525 Y W ARG TSR S Y& AT M 82
1. Long term memory / ﬁ-ﬁ?ﬂ:{ Fﬂﬁf

2. Sensory register / Gddl IR

3. Working memory / T Sfd

4. Short term memory / W—W F{ﬁf

Correct Answer :-

« Short term memory / Fﬂgﬁﬁﬂ?{ Fﬂﬁf

15) Infants develop stranger shyness by the ageof ./ ﬁ'l"{[ P IY dP e I
fRrere= a1 wwia faefa #3a 81

1. Three months / GG 1:@9[
2. One year/Waﬁf

3. Nine months / :ﬁ Ilﬁef

4, Six months /%qﬁaﬁ

Correct Answer :-

o Six months /@%'qgoﬁ

16) Deductive method proceeds from : /AT fafYr e UPhIR _Ea?ﬁ %:
1. Examples to illustrations / 3GIg XUl @f m a’ﬁ th

2. Law and rules to observation / PTJ1 3R Fawl § sadid & 3R

3. Specifications to generalisations /qrETRAER § fafeen ot iR

4, Observation to examples / aArDp o KA 3R

Correct Answer :-

+ Law and rules to observation / P 3R Fawl § sadid & 3R



17) What is the term used to describe the strong bond between a mother and her child? /T 3R

IIP I & S Aoigd S BT IUIH H1 & e frd Weg &1 U fovar wirar 32
1. Love / UH (&d)

2. Security / GR&T (RN

3. Maternity / HIJcd (ﬁ??ﬁﬂ)

NI
4. Attachment / HHdT (3{CIHC)

Correct Answer :-

« Attachment / HHdI (31?1'44:[(1)

18) What type of intelligence would be used when trying to navigate through traffic? /aﬁm ﬁ

Afaiie I D DIRR HXd IUY 59 TeR o gk o1 U foar s
1. Interpersonal intelligence / &I?Rﬁm%@ §@

2. Intrapersonal intelligence / W%qm m

3. Spatial intelligence / RJIIEEY @:@

4. Naturalistic intelligence / mﬁﬁ Tg’@

Correct Answer :-

« Spatial intelligence / EJ|IEGT g@

19) Hereditary factors begin their influence right from the time of of the child./ Wﬂﬂ"ﬁ

PR I B & T A YT YUTT IR A & |
1. Development / T

2. Growth / dfg

3. Conception / TTHUTT

4. Early years / URRYS® a9

Correct Answer :-

 Conception / THTET

20) According to Kohlberg, child may question the social and political beliefs of
the parents and elders in moral development stage. / ﬁgﬂﬁﬁ'ﬂs

IR, =T, A e a=or & arar-far ok 9t 3t armfoes
IR IeAfIE T=IaTe W HaTa 38T AddT 2



1. Post-conventional /W—W
2. Formal conventional / @W URUN®

3. Pre-conventional / @—W
4. Conventional / URUN®

Correct Answer :-

« Post-conventional /W—W

21) How will you calculate average marks of students? / 3T ST & 3NTd b}
D1 0T FE B2

1. Geometric mean/ fSRATAfeH A1e
2. Variance/ U8RUI

3. Standard deviation/ A fage
4. Arithmetic mean/ 3BT 3NTd

Correct Answer :-

. Arithmetic mean/ 3/&ITTOId 3NTd

22) Generally, all classrooms will have diversity. Identify the dimension that does not present too many problems
related to diversity.

/ TR R, Gt wemai ¥ fafaear gft 1 39 omarH &) uga o 9gq oifte fafaeara
Tafd $3 JUTSI b1 Ugd Aot drar gl

1. Cultural background/ WW qgﬂﬂﬁ
2. Geographical status/ arferes fufa

3. Social beliefs / THITH Aq=did

4. Athletic ability/ g¥ IdTq

Correct Answer :-

» Geographical status/ afere fRufa

23) Which of the following is a child's attribution to success? / fRafefad # @ $i #t
Thaal & it a1 $t favang 22

1. Consistent focus on Learning / SfITH IR AR T bigd Bl

2. Random focus on self / & TR &I dhfad HAT



3. Maintain worksheets and notes / HTITA® (Ghfie) 3R Ay HafRud &l

4. Believe in luck / HIFT WR Ay &1

Correct Answer :-

« Consistent focus on Learning / SfITH IR AR M Higd Bl

24) CANCELLED

You are helping a mother to develop a behavioral program to deal with her son Raj who has
oppositional defiant disorder. Which of the following is the MOST significant component of this
program?

/ 39 TH AT BI 3 9 IS A e & g v sqasR srdwd AeRa A A ugg R R §,
gﬁﬁﬁﬁ?ﬁﬁ%ﬁ%ﬂaﬁvélmﬁﬁﬁquWWWWW
?

1. Strict parenting / I%d RARE
2. Detention / FRIY
3. Positive reinforcement / P RTHD {-EW

4. Punishment / Il

Correct Answer :-

 Positive reinforcement / P R[HD {;LEGGId?{UI

25) CANCELLED

Which of the following is not part of the quantitative prerequisite for Continuous and Comprehensive

Evaluation? / 9dd Ud TS Jedic- & fore Frafafea & «ar amree gatten o1 it 18 82
1. Classrooms / $&|TQ

2. Schools / fa=ITer

3. Teachers / QT&‘W

4. Curriculum / UI&IhH

Correct Answer :-

e Curriculum / UTGJhH

26) CANCELLED

Constructivism assumes that all knowledge is: / TI-ITdIq g AT sfFafi a2
1. Constructed from the learner’s previous knowledge. AEINIED Uﬁﬂ?ﬁﬂﬁ BRI

2. Constructed solely by the learner. / Rremff g1 Fraw Affa )



3. Transmitted to the learners by the teacher. / fRrefen gRT Rigmeff &1 ufdd
4. Acquired solely through personal experience. / fada HJHd & H1HH J Had T fobar gl

Correct Answer :-

 Constructed from the learner’s previous knowledge. / Rremeff o Ujﬂ?ﬁflﬁ 3 fAfa
27) CANCELLED

may affect a child’s social development. / , ¥ & g faer &1
A HR AHAT 3|

1. Asthma/ 3T&JH

2. Chronic Illness /H,TI:F[ SR
3. Allergies/ Q?‘W}‘ﬁ

4, Eating habits/@'lef i SAlad

Correct Answer :-

+ Chronic Illness /ﬂTFﬁ SR

28) As per Cognitive Constructivism, learning is a result of: / HIFTHSD IAATdIG & SR,
T T 1 T aioH §:

1. Behavioral and Collaborative responses / &4dgIX GhT HSH\I‘IIG-IOb Qﬁw

2. Assimilation and Accommodation of structures / SR BT HGIo 3R AT
3. Extrinsic and Intrinsic reinforcement / STg<1 3R 3l WUT
4. Reward and Punishment of actions / HIRATg &1 YRIDPR RS

Correct Answer :-
e Assimilation and Accommodation of structures / FR_tFITG-ﬁ Gal FI@IGF-T 3ﬁ? NGRS

29) Which assessment measures student’s performance against a fixed set of

predetermined standards? /ﬁﬂﬁ@ﬁﬁﬁﬂﬁﬁ%@ﬁ%@?%m
BT & UG &1 ATUAT 3?2

1. Norm-referenced assessment / W—ﬂaﬁ-&‘l 3Th A
2. Criterion-referenced assessment / uma’sﬂaiﬁa 3{[ha

3. Diagnostic assessment/'?ldli'\‘ldo 3{Th

4. Achievement assessment / IUd BT b

Correct Answer :-



« Criterion-referenced assessment / ¢ S-Teldd sfidd

30) Radha asks her students to make their own questions and write their respective answers for
a chapter. A student in which stage of cognitive development benefits most from the implications

of this task? / TYT 7 3M0A BT A I 0T gt TP A A U9 994 3R IO Hafd
IR for@q & foe 981 | v o1, ST AT & {5 TR A 59 &t & fAfgard
T g 3ife arvifad giar 82

1. Sensory motor stage /ﬂéa"hﬂa ST

2. Concrete operational stage / ﬂjm S{ARYT

3. Formal operational stage / TR Tfoharde 3rawiT
4, Preoperational stage /Uﬁw S{ARYT

Correct Answer :-

» Formal operational stage / Tl Tfghardes 3rawiT

Topic:- General Hindi (L1GH)

1) = TS ST P} geAT 8, ) 98 R vop Veft degpfar A wewfad g1t B, stef <ar ik wyfer
SraffArd g Wk | T 3R U] & HaY B 914l e T, 3 Aol BT R way ff agd TR 9, &t
FW A i fe@mrE 39 &... TR, 78, TeTS, US... MUY # g oA iawfdel # d us siida ufasar &1
ﬁ?ﬂ,wmﬁmﬁwmmﬁ%%lwwmmm%muﬁwﬁr%ﬁm
IS F Ui TIE A IUFRT S Wra=1 F) 5+ e, S Ay FY Aeger, 3R APl srauron F 984
AT 41?2 T URT BT BIS TAT BT 8, 1 U], WETHRA SR GRS FHureit & Udie agw ot 3
sita @1 srfawt U W wera® = gld? afe us yws | i g sfe U wus' § (U g1 P
TIENHRUT ST 3, T I T81 HHT §1 Hhdl 8, a1 N DI 48 W A¥pia & Wfa-wue 3ifdhd 754 31
TR ®1 Fd §U IS &adl, At BT W Hd & HIS WfA, UgTs W Tea g fHi tRifdre amn #t siadban
9 vefug €, o W $en wad gU g9 vt shta=1-arn &t did-arn & uRura w2 aq €1

rfta & =1 & ufar g8 Hra 3= 3= | oY Tt o et N, STET 3-0H BT TeT ey TP 3R wWuRT
Tt Wi A ST 4TI Gt IRBIaws! Ft e 'R 3 a1g ot 8, forad ver um yfte= &1 v 3vA v
i 3 ygm GATaT 8, 3R SU T § IR w90 & IR T Wl $ U1 IR Ydhe Hd 8, 9 TP 3eia
TRE P ATATAD IAY T U §1 95 forad §1 "uo aw® g1 & Tra g3 dl-oft orm 31 & wfa et
geraTee SR AT W gl § Afh & ARIY WY Hgal § 19 & [out Ht F1ad wR o= &1 feit ok
wﬁﬁwmlqﬁmw$mﬁ%wmﬁmmm TSR I,
WY gde & g1l A faar ur1” 2reg gfp= & €, 3rum =1 "W IRMAT F IR H, AfpT 370 v Ui +1 v
Wmmﬁ@ﬁ%m%ﬁmﬁaﬁﬁaﬂ,sﬁmﬁaaﬁwﬁsﬁaﬁmuﬁwﬁaﬁ?ﬂm
Tt €, N I THY-THG W TEY HIEFIY & A1 HRA-YfA & ufd yae a1 |

ST T B UGHR A T MY U BT IR qaq1gy|

URH: ARPIaP! B fhed &1 U 3= fr o1 fFaeT v ugs gArar 82
1. frofar-fdee

2. DINTFTER

3. RATDRTHR

4. qfeH



Correct Answer :-

2) TN A 31T P geAT B, o) 78 R v Vel Geepfa A yewfad gt ], sef e ik e
Sraffard g Wk | I SR U] & HaY B a1l e @, I Heil BT R way off agd mewr @), ot
FWR F Ieftad @S 3 §... TR, 71, UBIS, Us... Mo # fobg 3rvA siafaeil #f 3 uep siiga ufgsrar &1
Tﬁﬁ,wmaﬁmﬁﬁﬁﬁwmmﬁ%lwwmmm%muﬁwﬁﬁﬁm
IS F Ui TIa A IUFRT S Wra=1 B 579 fean, S Ay F Aeger, 3R vl srauron F 94
AT YT? AT URT BT BIS TAT BT 8, TE1 IHRV], WETHRA SR GRIOG Tl & ydie a@ o1 3
St &1 srefawt U W wera® = gld? afe us Y | ofid g sufed U U’ § (U g1 P
TIENHRUT ST 3, T T T81 HHT §1 Thdl 8, STl N DI 48 W A¥pia P Wfa-wue 3ifha 76d 31
TR ®1 Fd §U IS &adl, At &1 W FHd & IS WfA, UgTs W Tea g fHi tRifdre amn #t siadban
9 vefug €, o W Fen W gU g9 vt shta=1-arn &t did-arn & aRurg s aq €1

3rfta & =1 & ufar g8 Hra 3= A= | oY Tt o Tt N, STET S-07 BT TeT ey TP 3R wWuRT
Tt i A ST 4TI G IRBIaGws! 3t e 'R 31 a1g ot 8, forad ver ur yfte= &1 v 3vA v
i1 3 ygm GATaT 8, 3R SU T H iR w9 & IR T Wl $ U1 ISR Ydhe HId 8, 9 TH 3eia
TE T AP IAY T gu §1 95 forad §1 "uo aw® 11 & 9ra g3 sf-ooft orm 31 & wfe et
gerarse SR Hgdl Heqd St 8 Al & Tty Wiae wear § 1 & {5t oft Fwa w s 3 fdt sl
%ﬂﬁaﬁmmmﬁmaﬁ%maﬁwwmﬁmmm S ER A,
WY gde & g1l A fear ur1" 2reg gfp= & €, 3= =1 'WeR IRMT F IR H, AfpT 370 ;1 Ui +1 v
wmmﬁ@ﬁ%mﬁ,ﬁﬁﬁﬁ%ﬂ,sﬁmaﬁvﬁﬁaﬁwmﬁﬁaﬁ?ﬂm
Tt €, N I THY-THG W TEY HIEIY & A1 HRA-YfA & ufa e a1 o

ITa TN DI UGH A YD T YA BT 3@ qa1s¢l
UR: SUR 981 f$d I & ufa sirefigar A 3w &) 5= far?
1. WOdl-aTSt

3) W TfR '3ITeHT BT geAT B, ot a8 Rid ve ¥ wepfa A yewfad gt €, wrel e ok
Sraffard g wd | I 3R U] & HaY B a1 al e @t I WMol BT R way off agd T 9, =it
SHWR A eitdd fears 24 §... IR, 71, U1, US... U ¥ g orum siaxfaef ® 9 uep Siiga ufasrar &1
ﬁw,wmﬁw%ﬁaﬁmmﬁ%%'lugwmwm%muﬁm%sqm
IUBIVT & Ui Ta A LUK F yrar H 5+ e, St Y B Jager, iR Tl srguron @ sga
A 41?2 T YR FT IS TAT BT 7, WET ITHTAUT, WETHR 3R RIS HUTH & Ui T8 o1 3
sita #t a1 U # WETa® el §1d? S U TS # SiidT g iRt U U’ § 3Uq g B
TeN®HRU1 BT @, df I8 I§1 AW §1 DT 8, T8l W $I 38 W AP A & Wfa-WId 3ifFd ¥ 3
TR &1 Fd §U IS &adl, At &1 W Hd & IS WfA, UgTs W Tea g fHA tRifdre amn &t siadban
9 vefus €, o W Feu vad gu g9 Ut shta=1-ar &t did-am & uiura #5% ad €1

arefta & =1 & ufa ag uta 3= 3= | off 3t 51 Tt N, TRt -0 BT Mg ey IRPa 3R WURT
P WA | FST 4TI g aRS o] B fived 'R @) a1g ot 3, orad ve ura 4w &1 1 3 v
it &Y ug? GATAT 8, 3R 39 U H YfRp T & TR H o) T U1 IR UHe Fd ¢, 4 TP 3feild
TE BT ATATAP IAY 1T gu §1 98 forad &1 "uo aw® g1 & T g9 Ff-3f orm 31 & ufa e dt



geraTge 3R Hgar ey gl § AfH & Aty Wi T § o & frelt of Shwa wR sroem 3w faedt ok
A0 B T T AET 1 T € o A F e Y Freht g sher & R s angm, SR Y,
WY gt & g1l A foam 41" reg gfiRpT & §, orum 31 'HeR IR/r & aR #, AfpT 3 u iR w1 e
¥ it ST RaTé 3T 2, ol € T, S SR AR e 99 T WRAr e g
<t €, S I THY-THY WR MY HTERY F 1Y HRA-Yf F ufa ywe 3t A

ST TR P UGHR 12 IR T U= $T Sk ga1s¢|
T I & W fpud aR A 72

1. YRd

2. ¢ forcH

3. S

4. e IR

Correct Answer :-

. Hex T

4) A TS 31T B weAT B, ) 98 R ve Rt deefa # uewfad it B, Sl e ok wyfar
SfRpd 8 T | T 3R U] & HaY Bt I1d A e G, 39 el BT v "oy ff 9gd e B, -
FWR A 3feitdd fears 29 7... R, Tl UgTS, US... MU ¥ g erm siaxfael ® 9 usp Siiga ufasan &1
Tﬁﬁwmaﬁmﬂaﬁmwaﬁéluﬁwmmﬁwﬁ?mwm%sﬁm
SUHRI & Ufer TG = "SUFRT ST H1aT 1 5T fea, Gﬁ?l%?ﬁﬁagm 3R HHIUl JAURON F T5d
A 4T? T YR BT HI3 AT ST 8, TGT AT, HETHRA MR TRIOIS HU13H & Wi T B 3
sita @ e U ¥ WETaP el §1d? S U yTS H SiiaT g iR U U’ § 3Uq g B
TIEH®HR1 BT 8, df 98 I81 TUT B FHdT 8, 98T d Pt 38 W IPpfa & Wfa-wia sifdrd vga €1
TRR PI Fd Y PIS qadl, T4 T TR B 81 Pls Wi, TeTS W ded g¢ [Pl WRifdres arn # siadr
9 vefs &, o W Fen wad gu g9 Ut shta=i-arn &t didf-arn & aiura 7 ad 81

arefta o =1 & ufar ag utam 3= A= | off 3t 51 Tt N, SRt IW-09 BT TeRT Ty WPl 3R WURT
Tt Wi A ST 4TI G dIRBIaws! e R @) a1g ot 8, forad ver um yfe &1 1 oA v
3 ®) ugHR AT B, 3R 3W 0 A YR 9 F IR W o T U1 ISR UHE IId 8, d TP 3fola
WRE &7 meaTad 399 fog gu €1 95 Rrad €1 wmaﬁamﬁggam-wmm%wmw
geraTge SR Fgdl Ueqd gidl 8 Al & Ty WIh? wear § 1 & fdt oft #ua w e 3= fdt sk
T | T TEE AET | T € U I S SRE Y Frelt g sheTr & i e angm, S SaR 3,
A il & g1l # foar uTI™ 2reg YiRpT & ¢, SruA QX 'WeX IR F AR F, A 37 < wid w1
Tar rfifer smary fens 3ar 8, forad gw fadwre, ot srfdg o niiht &t wrant wfaeafra gidt g8
<t €, i I THY-THY WR MY HTEAY & 1Y HRA-Yf F ufa yve 3t A

IUY TN B! UgH R YD T YA HT S« qa13¢|

: URA-Yf F ufd fdee, ft srfdg ok widh 3t wramn fFasd a1y uwe g3 82
1. TER YAy

2. SN Wid

3. Yeyfa 9

4, Fqferd e

Correct Answer :-

. TR YR



5) = R '3MTeHT BT TeAT B, ot a8 Rd ve ¥ wwpfa | yewfad g1 €, wref = ok
SfRpd 81 T | TS 3R U] & HaY Bt a1d A 3T 8T, 39 el BT e 9y ff 9gd e B, o
SHWR A 3feitdd fears 29 7. IR, 7l UgTs, US... MU ¥ g orum siaxfael ® 9 usp Siiga ufasan &1
Tﬁﬁwmaﬁmﬂ%ﬁmwaﬁ%mﬁwmmhw%mwm%ﬁm
SUHRVI & Ufey TG = "SRIUFRT T a1 BT 5T fea, i g &1 Aager, o Aatof srauron & agd
A 4T? T YR BT HIg AT HIHT 8, TET AT, WETHRE 3R TRIOTS HUT13H & Wi T Bt 3
sita ® e U W WETa® el §1d? S U TS H SiidT g iR U U’ § 3Uq g B
TIEH®HR1 HaT 8, df 98 I8 TUT B FHdT 3, 9l d Pt 38 W IPpfa & Wfa-wia sifdrd vga €1
TR B Yd §T BIS 3qd1, Td BT W B & PIg Wid, U878 W Ted §¢ il GRIG qr Bt Siaeh
9 vefs €, o W $eu vad gu g9 vt shta=i-arn &t didf-arn & aiura o7 ad €1

arefta o =1 & ufar ag utam 3= A= | off 3t 51 Tt N, SRt IW-07 BT TeT Tey WPl 3R WUt
Tt Wi A ST 4TI G dIRBIaws! It e AR @) a1g et 8, forad ver um yfe &1 1 oA v
3 31 ugHR AT B, 3R 3 0 A YR 0 F IR A & T U1 ISR UHE HId 8, d TP 3fola
WRE BT MeaTad 399 fg gu €1 a5 fRrad €1 wﬂw@%%#ﬁg@mﬂ-wﬂmﬁ%m%tﬁ%ﬂ
geraTse SR Hedl TeH Sl 8 Al & Tty WTh? wedr § 1 & {5t oft Fua wr s 31 fdt sk
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Gl § &8 g3l T
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o1 AT g
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T &t fort & Qi v Wl & g

T T BT ITGT UaSS B AleT g

S SRIRG 1 791 WIGT B el §
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3R gt

FTTE TA TR
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1. JeRAT gl

2. Hedhdl gl

3. P HDIAT g3l



4. BT gl

Correct Answer :-

17) §9 T 99q 1S A
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R ¢ oTd & Qe e
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Tgl Sfa 1 W T
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S 9IRGB TIT HTST B &leT §
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3R g2t

w198 § A W2

UG §gd B9 § R TN
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3. P13 3UH TR dH UgdT ¢
4. PR ATWRATIRSS

Correct Answer :-

. MG IHR A BIS U SWR Y G

18) ¥ 7Y 9d S A

oTg1 A &7 38 § T4-T8 T
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e § §d § R e

WierdT § arear fiud &1 is
FYordT § €8T g3 TR
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i G Wt 91g AT 7 a1t Wie & WIed B
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IRARWINTE W AD

T AT
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I $T U V@ ¢
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S I BT AT UGS DI AT R
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39 YE1 IUTY & &R Rarel Wewersil
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2. HEIA 1€ ofte
3. TGTAR 1 TGN
4. BT H dle

Correct Answer :-

S EICICASIE |

19) $9 ¢ 9Hd g1 A

oTg1 AW T 38 § T3-T4 AT

T SRR TRAT Y STl §

T ¢ oTd § e e

Fierdr § drear fiud &1 08
SISl § 38T g3 TR

3R T BT WTelt gt T8l | AT
g AT g

i Gt AT 91g fomT ¥ a1t e & BIes &1
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T QY WX 3R SHHBTAT

TR AT FO T8

A PO U @I 8

g1 Wi &1 YR 78
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SR AT BT 7T HIGT B AT §

39 YT IUTY & X RaTel Wewersi
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T IE 3 a1 IR?
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1. 3 TATHEA |

2. 3 YA §|

3. d RA US 7T
4. d €A g O g

Correct Answer :-

. IS I B

20) S99 ¢ S g1 A

oIg1 AW T 38 § T3-T4 AT

A SR I YA AT §

T ¢ oTd § Qe e

@ieordT § drear fiud &1 08
WISl § 38T g3 TR
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ST AT R

5= §t AT 91g fomT 1 a1t Al & BIes &1
TR YT gHHTIT
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A9 $ U TET 3

ggi Wi &1 WA T8
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S T BT ITGT UaHS B AT g

S RGBT 1T WG| B AT §

39 g1 IUTY fP B graren Wewersn
3R gt
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WH: Hfd TP W NS 1 g1 W 3R i 9 a1 82
1. Obia CIESECNIRSIE] %

2. TTH AP TN

3. Hfd $I fOR Sea odT 8

4. $1d e TR I LT ¢ Il

Correct Answer :-

21) 9 ¢ §9d gaTh A

oIg1 A 9 38 § T8-T4 wpT

T SR I YA AR

T g §ITd § R

QT § aredr fiud 1 0s
Wl § ¢8T §3IT TR

3R i 1 WTelt g ST STeT | AT
o1 AT
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R AT SH TSI
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T g1 TR AT SHHABTAT
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S ARG PT IT WIS} B AT §
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3R gt

T I § A W2

YUY §§d FH 8 TR U

ST =l UT=T ST 31T I6T 3BT
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3T TQ U= 1 ygwR AR U@ WM 9T U BT I@ darsu|

UL BRI § HIF-B19 A RA =1 &1 I fear mar g2
1. Had NUd H1 IS

2. Had dlg i feHT Fared! e

3. Bdd &gl g3l Hb

4. Iugdaq quft

Correct Answer :-

. IWYad quft

22) 9 Y §9d gaTh d

81 A & 38 § T8-T4 upT
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e ¢ oTd § Qe i
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WYl § ¢8T §3IT TR
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2. Segt TR A e SR i TRE g ¥
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4. TR Yd S & HRUI
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. JRI R T IR A RE s A

23) $9 ¢ §¥Id g1 A
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. i R UgaH fie T
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. T THHE I IR
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. U9 3R 3RS FGd

26) 9 ¢ §9d gaATH A

oIg1 AW T 38 § T3-T4 AT

T SR I YA AT R

e ¢ oTd § e e

TiordT § drddr fiud &1 s
FIdT § &8 g3 TR

3R i BT WTelt gt T8l | aY
SRS

b= Gt AT a1g fomT ¥ a1t <t & WIes &1
TR YT FHHTIT
IRAWIRTH R AD

ECEGIN

T 1 TR AT SHHBTAT

T51 A $O TTET 8

A PO U T8

ggi Wi &1 W 78

T &t ot & it o wimeht & g
SR T BT T Uaels &1 del §
Y SRIRG T T US| Bl AT §

39 YT IUTY & R aRarel Wewersi



SR go!

T IS g A W2

TG 9gd HH 8 TR U

ST IS UT-I ST 3T BT SHpT™

MG PR o DI TdH SHW 9 6@ PX

o U v ®1 yew R U@ WM a1d Uk o7 3@k 9413t
UH: &1 AP 916 91 a1l e & WIed T O fba-1 a1 412
1. GORA

2. SHHIE

3. dgd sl

4. 9gd BT

Correct Answer :-

27) 9T S9d gaTh o

oIg1 AW T 38 § 13-4 AT

T SRR TRAT Y STT §

T ¢ oTd § e e

Wiordr § drear fiud &1 08
Gl § &8l §3IT TR

3R i BT WTelt gt T8l @AY
o1 AT g

= Gt AT 911G fore ¥ a1at <t & Wies &1
W YT gHferen
IRATRIRTE R D

TASATE

1 g1 TR 3T SHHADTAT

T51 A $O TTET 8

A PO TCTETE

g1 Wi &1 W 78

T &t forr & it o ol & g
SR T BT T Uaels &1 del §
T SRIRG T TRT US| Bl AT §



39 Tgt IUTY fob BT RaTel We@eran

3R gt

T TG g A W2

UG 9gd HH 8 TR U

ST IS YT ST 3T BT SHpT™

TG PR o DI TdHT SHW A ¢& PY

o Uy o1 vew R U@ WM a1d Uk o7 3@ 9413t

WH: 51 I $O 9 3R O °e ¥ET § ST fhadT W =51 foat <1 qavar?
1. e &1

2. Hfd &1

3. I @
4. afad &1

Correct Answer :-
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Y ARG PT ITIT UG} BY AT §
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Correct Answer :-

Topic:- General English(L2GE)

1) Complete the sentence with the suitable pronouns.

Srikanth was tired of _____ failed businesses so _____decided to call ____ quits.
1. their, he, them

2. my, we, them

3. his, he, it

4, its, he, it

Correct Answer :-
e his, he, it
2) Read the passage carefully and answer the question given below:

Stonehenge is a prehistoric monument in England. It consists of a ring of standing stones and
archaeologists believe that it was constructed from 3000BC to 2000 BC. Ever wondered why the



Stonehenge was built? People have been puzzling over this for hundreds of years. They have
come up with various answers, some of which are quite wild. Some people think that Stonehenge
was once a cattle pen; a palace, or an altar for human sacrifice. Others believe it to have been
the foundations for the tents of the great roman emperor, Julius Caesar. Today’s explanations for
the Stonehenge and the most popular ones are from science and math. There was once a man
named Alexander Thom who spent many years working on the Stonehenge and other stone
structures. According to him the Stonehenge is a sort of solid math problem. He believes that the
people of the past would have used this to find out measurements of triangles and other shapes.

What does the word ‘puzz/ing mean in this context?
1. Creating puzzles

2. Thinking

3. Causing confusion

4. Making noises

Correct Answer :-

e Causing confusion

3) Read the passage carefully and answer the question given below:

Stonehenge is a prehistoric monument in England. It consists of a ring of standing stones and
archaeologists believe that it was constructed from 3000BC to 2000 BC. Ever wondered why the
Stonehenge was built? People have been puzzling over this for hundreds of years. They have
come up with various answers, some of which are quite wild. Some people think that Stonehenge
was once a cattle pen; a palace, or an altar for human sacrifice. Others believe it to have been
the foundations for the tents of the great roman emperor, Julius Caesar. Today’s explanations for
the Stonehenge and the most popular ones are from science and math. There was once a man
named Alexander Thom who spent many years working on the Stonehenge and other stone
structures. According to him the Stonehenge is a sort of solid math problem. He believes that the
people of the past would have used this to find out measurements of triangles and other shapes.

Alexander Thom'’s perception of the Stonehenge was that it is:
1. A cattle pen

2. A site for scientific discovery.

3. A sort of a solid math problem

4. An architectural monument of great worth.

Correct Answer :-

e Asort of a solid math problem

4) Read the passage carefully and answer the question given below:

Stonehenge is a prehistoric monument in England. It consists of a ring of standing stones and
archaeologists believe that it was constructed from 3000BC to 2000 BC. Ever wondered why the



Stonehenge was built? People have been puzzling over this for hundreds of years. They have
come up with various answers, some of which are quite wild. Some people think that Stonehenge
was once a cattle pen; a palace, or an altar for human sacrifice. Others believe it to have been
the foundations for the tents of the great roman emperor, Julius Caesar. Today’s explanations for
the Stonehenge and the most popular ones are from science and math. There was once a man
named Alexander Thom who spent many years working on the Stonehenge and other stone
structures. According to him the Stonehenge is a sort of solid math problem. He believes that the
people of the past would have used this to find out measurements of triangles and other shapes.

Today, the Stonehenge is:
1. A palace

2. A prehistoric monument
3. Atent

4. An altar

Correct Answer :-

¢ A prehistoric monument

5) Read the passage carefully and answer the question given below:

Stonehenge is a prehistoric monument in England. It consists of a ring of standing stones and
archaeologists believe that it was constructed from 3000BC to 2000 BC. Ever wondered why the
Stonehenge was built? People have been puzzling over this for hundreds of years. They have
come up with various answers, some of which are quite wild. Some people think that Stonehenge
was once a cattle pen; a palace, or an altar for human sacrifice. Others believe it to have been
the foundations for the tents of the great roman emperor, Julius Caesar. Today’s explanations for
the Stonehenge and the most popular ones are from science and math. There was once a man
named Alexander Thom who spent many years working on the Stonehenge and other stone
structures. According to him the Stonehenge is a sort of solid math problem. He believes that the
people of the past would have used this to find out measurements of triangles and other shapes.

This passage talks about:

1. Alexander Thom

2. Stonehenge as an altar for human sacrifice
3. The measurement of triangles

4. Why Stonehenge was built?

Correct Answer :-

e Why Stonehenge was built?

6) Read the poem carefully and answer the question given below:

Language



A bumbling bee went berserk...

Instead of buzz, buzz, buzzing, went zzub, zzub, zzub.
When asked why this wonderful wonder?

He just haa, haa haaed aloud,

Said, “change is sometimes good to stand out in a crowd!”

A zany zebra zoomed about, zithering here and there
Fell tired and went to sleep with a zzzzzz,

Soon, was up on his feet and zipped about again with a brzzzzzzz,

An elegant elephant empathetically made a solemn elegy,

Then, eccentric that he was, excellently sang it to melody.

A flippity, flappity, floppy fish

Had fine fins and a fiery spirit.

Was bedecked in finery from head to toe
Looked like a floral feature on the ocean floor.
Not to be cowed down, nor bullied about,

He went about all his tasks with zeal and ardour.

The figure of speech in "when asked why this wonderful wonder” is:
1. Simile

2. Personification

3. Onomatopoeia

4. Alliteration

Correct Answer :-

o Alliteration

7) Read the poem carefully and answer the question given below:

Language

A bumbling bee went berserk...



Instead of buzz, buzz, buzzing, went zzub, zzub, zzub.
When asked why this wonderful wonder?
He just haa, haa haaed aloud,

Said, “change is sometimes good to stand out in a crowd!”

A zany zebra zoomed about, zithering here and there
Fell tired and went to sleep with a zzzzzz,

Soon, was up on his feet and zipped about again with a brzzzzzzz.

An elegant elephant empathetically made a solemn elegy,

Then, eccentric that he was, excellently sang it to melody.

A flippity, flappity, floppy fish

Had fine fins and a fiery spirit.

Was bedecked in finery from head to toe
Looked like a floral feature on the ocean floor.
Not to be cowed down, nor bullied about,

He went about all his tasks with zeal and ardour.

The synonym for “berserk” is:
1. Strange

2. Crazy

3. Confused

4. Angry

Correct Answer :-

8) Read the poem carefully and answer the question given below:

Language

A bumbling bee went berserk...
Instead of buzz, buzz, buzzing, went zzub, zzub, zzub.

When asked why this wonderful wonder?



He just haa, haa haaed aloud,

Said, “change is sometimes good to stand out in a crowd!”

A zany zebra zoomed about, zithering here and there
Fell tired and went to sleep with a zzzzzz.

Soon, was up on his feet and zipped about again with a brzzzzzzz.

An elegant elephant empathetically made a solemn elegy,

Then, eccentric that he was, excellently sang it to melody.

A flippity, flappity, floppy fish

Had fine fins and a fiery spirit.

Was bedecked in finery from head to toe
Looked like a floral feature on the ocean floor.
Not to be cowed down, nor bullied about,

He went about all his tasks with zeal and ardour.

“Fiery spirit” describes the fish as:
1. Active, energetic and lively

2. Hot as fire

3. Boring and dull

4. Serious and easy angered

Correct Answer :-

» Active, energetic and lively

9) Read the poem carefully and answer the question given below:

Language

A bumbling bee went berserk...

Instead of buzz, buzz, buzzing, went zzub, zzub, zzub.
When asked why this wonderful wonder?

He just haa, haa haaed aloud,

Said, “change is sometimes good to stand out in a crowd!”



A zany zebra zoomed about, zithering here and there
Fell tired and went to sleep with a zzzzzz.

Soon, was up on his feet and zipped about again with a brzzzzzzz.

An elegant elephant empathetically made a solemn elegy,

Then, eccentric that he was, excellently sang it to melody.

A flippity, flappity, floppy fish

Had fine fins and a fiery spirit.

Was bedecked in finery from head to toe
Looked like a floral feature on the ocean floor.
Not to be cowed down, nor bullied about,

He went about all his tasks with zeal and ardour.

In the last stanza of the poem, the fish is compared to a
1. plant
2. beautiful carpet

3. group of animals

4. flowery decoration

Correct Answer :-
» flowery decoration

10) Read the sentence carefully and choose the option that has an error in it:

When Gopal opened the cage, the parrot came out and perched in his shoulder.
1. No error

2. the parrot came out and perched

3. When Gopal opened the cage,

4. in his shoulder.

Correct Answer :-

¢ in his shoulder.



11) Fill in the blank with the correct option in the given sentence:
The river appeared --canny to the poet.

1. re--

2.in--

3. ill--

4. un--

Correct Answer :-

12) Fill in the blank with the correct option in the given sentence:

The company used one of its ex-employees asan ______ for the seminar.
1. assessment

2. assess

3. assistant

4, assessor

Correct Answer :-

e assessor

13) Fillin the blank with the most appropriate preposition in the given sentence.
She wanted tobe __ friends.

1. across

2. between

3. among

4, below

Correct Answer :-

14) Choose the most appropriate articles in the given sentence.

woman was seen driving away in black car.



1. An, a
2.A a
3. A, an

4. No article required, the

Correct Answer :-

e A a

15) Choose the right tag:

Sita comes to school regularly, ?
1. is she

2. wont she

3. does she

4, doesn't she

Correct Answer :-

o doesn't she

16) Choose the option that substitutes the given phrase appropriately.

The rule of a king or queen
1. Democracy

2. Monarchy

3. Plutocracy

4. Despotism

Correct Answer :-

e Monarchy

17) Change the given statement to indirect speech.
She said, "I am listening to music now”

1. She said that she listened to music then.

2. She said that she will be listening to music now.



3. She said that she was listening to music then.

4, She said she would listen to music now.

Correct Answer :-

» She said that she was listening to music then.

18) Choose the appropriate suffix that forms a noun in the given sentence.

The principal gave him a good testimon-- when the boy left school.

1. --ies
2. --ation
3. --ial
4. --ials

Correct Answer :-

o --al

19) Choose the appropriate prepositions for the given sentence:

There was plenty
best the actors.

laughter the film sets while the director was trying to bring out the

1. of, on, in
2. of, from, among
3. 1n, in, for

4, to, at, on

Correct Answer :-

20) Choose the appropriate antonym for the highlighted word in the given sentence.

Why didn’t you respond to my call?
1. Answer

2. React

3. Reply

4. Ignore



Correct Answer :-
» Ignore

21) Choose the appropriate conjunction for the given sentence:

I faced difficulties I was successful.

1. but
2. and
3. which

4, that

Correct Answer :-
e but

22) Choose the appropriate option that rewrites the given sentence in its passive voice.

Assam grows Tea.

1. Tea is grown in Assam.

2. Tea is being grown in Assam.
3. Tea is grown by Assam

4. Tea has being grown in Assam

Correct Answer :-
e Teais grown in Assam.

23) Choose the appropriate tense to fill in the blank in the given sentence:

Grapes well in tropical climates.
1. don't grows

2. did not grew

3. are not growing

4. doesn’t grow

Correct Answer :-

o don't grows



24) Choose the appropriate synonym for the highlighted word in the given sentence.

After a few years of romance, the courtship between the celebrities faltered.
1. Fluctuated

2. Became stronger

3. Flattered

4. Grew weaker

Correct Answer :-

» Grew weaker

25) Choose appropriate articles for the given sentence:

It was dusk by time we reached _ Cape Town, one of _ most beautiful of world’s cities.
1. a, the, the

2. a, no article required, a

3. no article required, the, the

4. the, no article required, the

Correct Answer :-

« the, no article required, the

26) Choose an appropriate modal for the given sentence:

Our competitors be mistaken if they think our supervisor is going to join hands with
them.

1. ought to
2. should
3. may

4. must

Correct Answer :-

27) Choose the option that best explains the highlighted expression:



We had a ringside view of the boxers because our seats were three rows from the ringside.
1. A place very comfortable to obsequies the actions of the play

2. Clear, uninterrupted view

3. An area ringed around for special purposes

4. A closer look at the stadium

Correct Answer :-
¢ Clear, uninterrupted view

28) Choose the option that best explains the highlighted expression:
Some people have a habit of wearing their heart on their sleeve.

1. exposing their innermost feelings to others

2. saying something which is not to be taken seriously

3. always trying to gain advantage over others

4. avoiding being friendly with others

Correct Answer :-

» exposing their innermost feelings to others

29) Choose the option that best combines the given sentences.

He finished his breakfast. He washed the plates.
1. He finished his breakfast and washed the plates.

2. He having finished his breakfast and wash plates.
3. Having finished breakfast, the plates were washed.

4. He was being finished his breakfast to wash the plates.

Correct Answer :-
» He finished his breakfast and washed the plates.

30) Choose the option that best transforms the sentence into its Indirect form:

“What shall I do next?” the little boy asked his mother.
1. The little boy told his mother what he should do next.

2. The little boy asks his mother what he shall do next.



3. The little boy said to his mother what | should do next.

4. The little boy asked his mother what he should do next.

Correct Answer :-

¢ The little boy asked his mother what he should do next.

Topic:- Science (SCI)

1) The frequency of wave produced from a device is 50,000 Hz . It is equivalent to: /

TS O q ST a1 B MR 50,000 B (Hz) 31 T8 -1 & T &
1. 5kHz / 5 foagds

2.50kHz / 50 foratiged

3. 500kHz / 500 faigest

4. 5000kHz / 5000 fdhaigdst
Correct Answer :-

. 50kHz / 50 fagcs

The following are the pH walues of some commonly known solutions:

Substance. pH wvalue.
Acid rain 56
(GGastric juice. 1.0
Lemon juice 25
Tomato juice 41

Which one of them is the most acidic? /

frafafea $o wd f@eaet & pH A &:

geat. dro=r AT
R 5.6

AT 1.0

g & @ 25

THTEX &7 4.1

A § FiF-AT Fa AOF JET g7

1. Acid rain / 3% a8
2. Lemon juice / =ﬂq$r kS|

3. Gastric juice / STHIRII XY



4. Tomato juice / CHICR I XH

Correct Answer :-

 Gastric juice / 3THIRII I

3)

The given distance—time graph shows the motion of two motor bikes X and Y along a straight

road. Which of the following statements is wrong?

&z a1 gi-gag e vs Ol 5% & A o AeY 96 X 3R v & 9
ceffar g1 Aeafef@a ¥ siaar saa 7eg &2

distance
Y

time

1. X takes more time than Y to cover a particular distance. /

T A ST A & A X &1 Y I S1fe THg T g
2.'Y takes more time than X to cover a particular distance. /

% fAfd g B qa B & o Yy &1 X 31fdd qu S g
3. Bike X covers more distance than Y. /

SIS X, A8 Y B U 3P g3 a0 Ha g
4. Bike X moves faster than the Bike Y. /

SIS X, S15h Y P 04T b ol o

Correct Answer :-

« X takes more time than Y to cover a particular distance. /

T A ST HA & U X &1 Y I 31fie THg T g

4) In the aquatic food chain consisting of crane, phyto planktons, tadpoles and fish , the position
of crane is: /

ERIDECIO] URER]] foraw 9aRY (@), UTeU Wad (phyto planktons), T30 MR HDl §,
o1 o fRyfa gift-

1. I trophic level / 1 tﬁ'@w RISEd

2. 11 trophic level / I Qif¥ &l TR

3. I1I trophic level / III Qif¥&dT &R



4. 1V trophic level / IV Qif¥&dT TR

Correct Answer :-

« IV trophic level / IV Qifehdl TR

5) To teach diverse, difficult to understand concepts in science, a blend of text,
audio, animation, video, still images or interactivity content forms can be used.

This method is known as: /ﬁﬁﬁﬁﬁﬁﬂ,mﬁwaﬁw&ﬁﬁ
e & fog, ewe, siifeat, Tfazm, difsar, fRr ofaal & frgorar
ammgﬁamﬁw-a\wj?q’fmm“%mmm%lwﬁfﬁﬁ
el Sldl &:

1. Information and technology communication enabled learning / AT 3R

TN TR FerH SHTRTH
2. Multimedia approach /mm
3. Documented problem solving / TR THRT-GHIT
4. Video clips / ?ﬂ%ﬁf ﬁ?‘lﬂ

Correct Answer :-

« Multimedia approach / Ao THITSaT S 0T

6) The focal length of a convex mirror in air is 15 cm. When it is immersed in water, the radius
of curvature of the mirror will be: /

g ¥ U 399 gUUr BT A1 @13 (focal length) 15 AL 81 919 39 U § ST 94T B,
U1 & aepar &1 s gift:

1.30 cm/ 30 I
2.7.5cm/ 7.5 At
3. 45 cm / 45 9H

4.15cm/ 15 9#t

Correct Answer :-

« 30 cm/ 30 9Ht

7) Lightning conductor is a device used: /
afSd ITa® (@S e~ Heaer) Th SUBIUT BT SIAATA fhdT SITdT 8

1. To protect the buildings from the effect of lightning /



SURG! &l dfsd & YU T g9 & folw
2. For communication purposes /
BEREIEEICARIY

3. For forecasting the forth coming lightning and thunder /

ST afSd SR TReR (SR) 1 Yaiga= @ H & forg
4. To store the electric charges produced at the time of lighnting /

qSd & 9T Iaed faggd Smaxn &f Wed A & oy

Correct Answer :-

« To protect the buildings from the effect of lightning /

SARMI &l AfSd & THIG I §IM & [olg

8) Which of the following contains more roughage? /

Frafafaa 9 fead siftre AierarT (roughage) ﬁﬂ%ﬂ @T‘IT %?
1. Fish / H&el!

2. Milk / gY

3. Leafy vegetables / UeR gfesrar

4. Meat / |G

Correct Answer :-

« Leafy vegetables / TRiGR Tfesrar

9) Sethu felt more cold on a metal plate than on a wooden table when she placed her hands on
them because: /

g DI YT S W UR Abs! B AT &I g1 A UG 33T AN 3T o1d 39 3
BT D 3T TR QT Fifh:

1. Wood conducts more heat energy than metal plate. /

ABS!, YT & W P a1 H AP ST Sl BT FaTe Bl 6|

2. Her body temperature is less than the temperature of the wood and greater than that
of the metal plate. /

I IRR HI AOHM THal & dlgH= I HH 3R U1 & e F 3P g

3. Wood is more hotter than a metal plate. /

ABS, U1 B! e P ga 7 31w 7 gt 71




4. Metal plate conducts more heat energy than wood. /

U & W, Adhe! BI ga H 31 ST Soll &1 Jarad Bl o

Correct Answer :-
« Metal plate conducts more heat energy than wood. /

U & Wi, Adhe! BI ga- § 3ifd ST SHull &1 A Bl 5

10) Proteins that regulate all chemical reactions of the body are: /

WA o IRR @1 gt It siffsrare ot frifia svd 8
1. Blood / Xad

2. Lymph / AT

3. Hormones / BIHIA

4. Enzymes / USITSH

Correct Answer :-

. Enzymes/QGl'I_E'gﬂ

11) Which of the following motivates a learner to learn? | fFafafead s
®I41-91 AT & fore wep Riamff &1 ufva srar 82

1. Interest in the topic / [0S T S

2. Repay / 199 &= (RT)

3. Lots of homework / [T W
4. Easy questions / 3T Hdlcl

Correct Answer :-

« Interest in the topic / Taoa # Bf

12) Kelvin is the unit of: /
1. Pressure / G&Id

2. Temperature / dTUHIA

3. Heat / S BHI

4. Humidity / 3T&dT



Correct Answer :-

» Temperature / dTUHIT

13) Automobiles use Batteries (Series of cells) to supply electrical energy for the functioning
of the vehicle.

Which one of the following acids is used in such Batteries? /

TSIHISTST a1 & FHG & ¢ fagga St @t myfd H7 & g sefal da ot
YT FTUART HRA & |

T UPR & deial & fAg & & SH-I1 37 &1 JanT fhar ST 82
1. Phosphoric acid / BRBING 3
2. Acetic acid / TRIfC® 3¥

3. Hydrochloric acid / gﬁ@ﬁ?ﬁ% 3HKT
4. Sulphuric acid / QT"W ST

Correct Answer :-

+ Sulphuric acid / W S|

14) Choose the incorrect statement among the following. /
frafafed 4 9 o HY= 1997 $ |

1. Metals are electropositive in nature. /
YTq Uepid H faqgd 4T Bid 8|
2. Metals are sonorous in nature. /

YTq U fa § earfe gl 2

3. Metals reacts with dil. acids to produce hydrogen gas. /
BIEgIor 119 BT JaTed B & g UTq g o & w1 Sififoran it 1

4. The oxide formed when metals reacts with oxygen, turns blue litmus to red. /

O YTq SHTRITSH & 1Y g Bl ], 99 RIS &1 Ao giar 8 | for ia J a1

foTeH o1l B ST g |

Correct Answer :-

« The oxide formed when metals reacts with oxygen, turns blue litmus to red. /

O YT Siaitor & A1y Nfohar Sl 7, I9 Sags &1 FHur gl g | o i W ar

foTeHyg AT g1 ST g |




15) Identify a non-metal which has metallic lustre: /

I 3T B UgaH H¥, Foraw unfas Tv® gl 8:
1. Phosphorous / TIEHIRE

2. Todine / 3TATSH

3. Sodium / GIfSTY

4. Sulphur / Heh?

Correct Answer :-

« Todine / TSN

16) The device fitted with an automobile to show the distance travelled by it is called: /

q18+T §RT AT DI 715 g3 B ST & fore forwy a7 3t fve favar wirar 8, 39 FeT19man &:
1. Speedometer / TTSIHIER

2. Odometer / 3TSITHCR

3. Lactometer / TG IHIER

4. Hydrometer / slsglﬁlaz

Correct Answer :-

. Odometer/x’ﬁlglmaq

17) The magnitudes of the power of two lenses are 2D each. One of the lenses is convex and
the other is concave. If the two lenses are kept in contact, then what is the focal length of this
combination?

3 A A A Ud® P Urar BT URATU 2D B 1 A H A Uh 3T 2 3R gERT Sraad g1 afe
3l 9 B YUd A TW 91 &, df 59 GUIo I Bivd ddrg fpd-l 82

1. Infinite / 3Hd
2. Zero / [
3.4

4.2

Correct Answer :-

« Infinite / 3-d



18) The credit of green revolution in our country goes to: /

AR X | g wifd 3T 44 S1aT 8:

1. Dr. V. Kurien / . 9. W:f

2. Dr. H.G. Khorana / SI. Qﬂ\_rﬁ YR

3. Dr. M..S. Swaminathan / SI. TH.TY. WHHTA
4. Arya Bhatta / 3 Hs

Correct Answer :-

« Dr. M.S. Swaminathan / ST. TH.TH. WHFTYT

19) The magnetic effect of electric current was first observed by: /

faggd YRT & a1 YU &) TIUYH 399 gRT Hferd far mar or:
1. Andrew Ampere / Q@A—q\wﬁ?

2. Alessandro Volta / Q@I@—@ areeT

3. Hans Christian Oersted / %7\‘:[ fofee IS

4. Michael Faraday / HIgP <l e

Correct Answer :-

o Hans Christian Oersted / %7\‘:[ W&H’qﬁ @ﬁg

20) The strength of the sea breeze depends on: /

TS gaT P ydsar 59 W ik st @

1. The temperature difference between the land and the ocean / H\&f 3R % & I & o b
HR W

2. The direction at which it blows / $Hb T8 Bl fGRT R

3. The level difference between the ocean and land / H% 3R 3{&[ & TR P dT b FR W

4. Amount of water vapor present in the atmosphere / dIdraxul e ﬁﬁlj EREI IR EIRCE

Correct Answer :-

 The temperature difference between the land and the ocean / H\&f 3R % & AU & o &
SR W



A& Y Pere P o B TR
1. Kelvin scale / dfed ¥ha

2. Celsius scale / o ¥hd

3. Richter scale / X Whd

4. Romer scale / IR Thdl

Correct Answer :-

« Richter scale / Raex ¥bd

22) An electrical cell has: /

o fagga Aa A g &

1. Three terminals / <1 S

2. Only one terminal / Had Udh T
3. No terminals / aﬂé Eﬁhﬁ '_-1—69[

4. Two terminals / &l TfHAA

Correct Answer :-

« Two terminals / ﬁ E'ﬁ_"l?f

23) An element ‘X’ has 4 neutrons and 3 protons. Identify the correct valency of the element.
/

T d X' § 4 g 3R 3 MelF § | 9 & Tg! SaIowdl B ugar B
1.4
2.3
3.2

4.1

Correct Answer :-

24) Pick the odd one out. /

TS faww g |
1. Air/&gdl
2. Mixture of sugar in water / 13IT:ﬁf[ NESE foysor



3. Mixture of oil in water / UTHI H dd BT fHYOT
4. Cold drinks / T Ug

Correct Answer :-

« Mixture of oil in water / O | éa CAREELYI

25) When the force is doubled and the area is halved, then the pressure will: /

o9 99 g1 H far 5iar @ 8iR erwd syt = faam wirar 8, ) gre:

1. Be doubled / GNTAT 1 ST

2. Become one fourth of its original value / 30 g fdd A &1 Uh aﬁm.lg. E?f ST
3. Become four times its original value / 30 dRdfd® A BT IR RIGII E?f SR

4, Be halved / 3ﬂ%HE?fGﬂ'aTIT

Correct Answer :-

« Become four times its original value / 30 IRdfde T BT AR LG EASICRI

26) When a paste of starch is added to boiling water, the type of system formed is: /

Wd HE (starch) BT TP U ITAd YT & STAT SATT €, @ I qTeil YUITel! T YD &:
1. Colloidal solution / HIATS S fAcTT
2. Suspension / IBNER]

3. True solution / ARATAP faaqT

4. Dilute solution / T fderd

Correct Answer :-

« Colloidal solution / PIATSSH AT

27) When carbon dioxide is dissolved in water, the solution turns .
g T SATaIss UM A ga ST s, aifdea Sgaarsl

1. red litmus to blue / @9 fereHy &I ict &

2. blue litmus to red / Fidl fereHq & ofre &

3. no change in the colour of litmus / foreag & T o ﬁs“ uRad qﬁ
4. into a yellow colour with methyl orange / AT 3RS o T1Y Ut ST o

Correct Answer :-



« blue litmus to red / Fdl felcHT ®I A@ |

28) Which one of the following is the appropriate unit which is used to measure the volume
of Refined oil taken in a container? /

fafifad & ¥ S19-91 Suga TS ¢ T T Ue Ui § uispd ad 3t AT B
A1 & fore far sirar 82

1. Kilogram / farma
2. Nanometre / S-IHIeR
3.gm/L /¥ /e
4. Litre / AlcR

Correct Answer :-

o Litre/ F"E?

29) Which of the following is not a shell fish? /
Frufefad d Q S19-91 FaaUR) D! (shell fish) T8I 82

1. Crabs and bobsters / abOb(il 3R SR

2. Mrigals / §TTeT
3. Oysters / &ﬁ’w
4. Octopus / TdTqH

Correct Answer :-

 Mrigals / HIc]

30) Which of the following is an example for diffusion of a solid into liquid ? /
Frafafa & d $19-91 31 31 e & THR 3T TS ISTER0 82

1. Ink into water / UTt & 181

2. Carbon dioxide into water / U=t H CACE EEHVWE_S'

3. Oxygen in water / gt it

4. Copper sulphate into water / U H SR ehe

Correct Answer :-

o Copper sulphate into water / U H HIR Jehe



31) Which one of the following solids is used as a drying agent in bottles containing medicinal
tablets? /

fFrafafaa & 3 fg 3 &1 wahr studha M are Siaal # 6 3@ aTd PRSI & =9 & farar s
22

1. Calcium carbonate / HTRIIH HIEC
2. Sodium hydroxide / SfeTH RIS S

3. Quicklime / TSI AT
4. Silica gel / ffa®T SI@

Correct Answer :-

« Silica gel / RifcreT ola

32) What kind a learner is a child who seems to learn best when carrying out a
physical activity related to the subject? / dg d=l f e @t Rram ?ﬁ?\?ﬂ %
it foreft fawg @ Haftra vifos o1 & F3d g¢ Ia9 3raT Hiadr g2

1. Visual / €= (fag]3fen)

2. Aural / U] (\}ﬁl?ﬂ)

3. Kinesthetic / TG ddl (m@m

4. Reading/writing / &/ (ﬂﬁ'{r{/ﬂgﬁ'ﬂ)

Correct Answer :-

. Kinesthetic / TTfcidal @I’E’gﬁ@ﬁ@

33) The chemical name of washing soda is: / IRAT JIST T IS 74 8-
1. Sodium carbonate / TSTH HIFC

2. Sodium hydrogen carbonate / qifsaH 6I$§\I\TI"I CAIET

3. Sodium hydrogen sulfate / gifsaq 6I$§\I\J‘I"| Iqehe

4. Sodium sulfate / oifeay gcthe

Correct Answer :-

. Sodium carbonate / N STH HIEAC



Which of the following are the objectives for science education at higher
primary (V, VI, VII) level? / 3= UTYH (v, V1, VII) TR & fRreor faenfiay
& fore fFafafea A @ o9 v SExU &2

1. Observation, induction and deduction. / FIRI&0T, 3RTHA 3R e
2. Knowledge, comprehension and application. / 3T, JHL 3R \}lﬂ'qm'r[

3. Receiving, responding, valuing and organization. / siftynfgar, ufdafdar, W
3R TTe

4. Receiving, responding and valuing. / 3ifrg, ufafear 3R W

Correct Answer :-

- Knowledge, comprehension and application. / 3T, JH 3R 3171’9'@1'[

35) Which of the following cannot be used in mixed cropping? /

frafafea & & feae Suah fafya waa # =8 far o aoar 32
1. Ragi+ mustard / AT + IRl

2. Wheat + gram / TIg + T

3. Wheat + mustard / ﬁ_§' + IRl

4, Soya bean + pigeon pea / HIATeH + 3RER Pl a1d

Correct Answer :-

« Ragi+ mustard / IAf + Tl

36) Tracking the learning process during the instruction period is

which type of evaluation process? / 3IfeRTH Ufsrar & A= erafy &
R ¢ 1 {5 YHR B Yedics ufehdr g2

1. Formative evaluation / 3TO@TR® HeATh
2. Summative evaluation / T HeTh

3. Placement evaluation / ST HcTh]

4. Diagnostic evaluation / &I~ Hedid

Correct Answer :-

. Formative evaluation / SO HAlh



37) Curriculum is a complete plan for of educational aims. /

A It F_ & o ureTsH v Ul e 1
1. implementation / CUIESpE|

2. understanding / JHA

3. evaluation / W
4. visualization / eyl

Correct Answer :-

. implementation / Haaa-

38) Crop rotation is a practice to grow on the same field. /
X ATGd (Crop rotation) TH & AgH H IUS B ufshar g1
1. two or more crops together / a gl E(Pf T 3P B Uh g1y

2. two or more crops in definite row pattern together / fAfeya dfeq ted & ararar g 3Hite Had Udh
1Y

3. all the above / SWRIad g+t

4. a leguminous crop between two cereal crops / <1 3T ATl HHal & o Udh BhdaR thyd

Correct Answer :-

« a leguminous crop between two cereal crops/a WWW@%WWWW

39) One of the statements made about consumers is incorrect. Identify the same. /
SUHITTSH & Y | Th HYF Tad § | SAB! g B |

1. They cannot manufacture their own food. /é 3 WWW?@WWI

2. Chemical energy is obtained from outside. / QIHIQP-IOI? do\ﬂT CIRE @ YItd Ob«}l %I

3. They do not have chlorophyll. / 3% U1 TUigRd FaRIfthe) el 8T )|
4, They take in CO, and give out O,. / q CO, UgUl G| % L] (0} @Eﬁ %I

Correct Answer :-

« They take in CO, and give out O5. / G CO, Uslr GG % Td (03 @Sﬁ %I

40) One of the processes that involves the consumption of CO5 is: /



CO, @ @ud § A ufsharsii § ¥ U® &:
1. Forest fires / SHTA BT 3T
2. Photosynthesis / UDIR[ REGNY

3. Respiration /

4. Combustion of substances / uarzﬁm Qo

Correct Answer :-

 Photosynthesis / UDIRT REGLY]

41) What is meant by intervarietal hybridisation? / Wﬁ*ﬁf BT (?;E?_d'ﬁ'qa

FTS o) &1 T ordf 2

1. Crossing between different genera / fafe SR o o IR

2. Crossing between different varieties of plants / qaf%ﬁ B! FHF-fU feal & o I
3. Crossing between genetically dissimilar plants / 3TafRI% ¥0 ¥ SHM Qe & ofid BT

4. Crossing between two different species of the same genus / T &l S & & fF-fUa gofaal &
S BIRAT

Correct Answer :-

« Crossing between different varieties of plants / Tieh o1 fe- i foeerl & S iR

42) what is the literal meaning of the word “Science”? / "ﬁ'ﬂT'_'l'" o PT YIT%Q? 3k
1 8?

1. Experiment / TN
2. Knowledge / 3T

3. Wisdom / FfGH
4. Logic / GEQ

Correct Answer :-

- Knowledge / T4

43) Three resistors of 12 ohm each are connected in parallel. This combination is
connected in series with a combination of two resistors of 3 ohm each in series. Find the
net resistance of this circuit. /



TP 12 3H (ohm) & T UfeRIU® IHMTGR FU A TS gU 7 | I8 Ao §GdT § Udd
;;ﬁn%a‘ruﬁlﬁ%ﬁ%ﬂm%mumﬁwgqé'l 39 URuY o1 Y5 ufaRIY J1a
¥ |
1.10 ohm/ 10 KTt
2.5.5 ohm / 5.5 31
3. 42 ohm / 42 31H

4. 15 ohm / 15 3MH

Correct Answer :-

« 10 ohm/ 10 3NH

44) Ability to define an event in one’s own words and language is an indicator of : / fo<ht

"1 &) fHft & SR =rea) 3Ryt A TR S 1 &1 39S U JIF @
1. Providing explanation / TISIhRU U&TH AT

2. Communication skills / FaR HIA

3. Value/Attitude / Jed/a-gh

4. Experimentation / TR

Correct Answer :-

. Communication skills / IR ﬁ"«’lﬂ

45) The blackish material of vegetable origin formed by carbonisation under the surface of earth is: /

gt B 9ag & - S gRT Affa aaafa ga ot st aneht 1A @:
1. Charcoal / IRIA

2. Coke / DI

3. Petroleum / UcIferad

4. Coal / BIIaT

Correct Answer :-

« Coal / HITQT

46) The near point for a normal eye is at a distance of: /

TP I A7 & e e fig 9 g @

1.30cm from the eye / = ¥ 30 T4t



2.20 cm from the eye / 7 ¥ 20 4t
3.25cm from the eye / 73 ¥ 25 I

4.23 cm from the eye / =93 ¥ 23 9t

Correct Answer :-

« 25cm from the eye / 7 ¥ 25 44t

47) CANCELLED

If the momentum of a body decreases by 20%, then its kinetic energy will decrease by:/
Tfe TP I BT AT 20% U< STdT 8, a1 FqP el SHoif HH gl SImgdt:

1. 40%

2.18%

3.36%

4. 8%

Correct Answer :-

e 36%

48) In accordance with Dale’s Cone of Experience, which of the following media can help
a student to retain about 30 percent of his learning experience? / ST H B TP
TG & guR, FufafEa & | @19 O1 ureaw te 51 &) 39 AR sgya
¥ 30 yfa=ra &t ufaeia $ | Aag &Y ToHdr 8?2

1. Youtube / &I

2. Orkut / IIRPpC
3. Google Plus / 7[ITeT WiH

4. Radio / %léal

Correct Answer :-

« Youtube / YR

49) A doctor uses a for examining the ear of the patient. / T® Slac¥

MM & BT P Sig B & forw v ST SUANT BT g
1. concave mirror / Hddd E"CTUT



2. concave lens / 3add @
3. convex mirror / 3 adUI
4. convex lens / 3Id A9

Correct Answer :-

. concave mirror / Addd _QFd'UT

50) The two forces acting on a body which is floating in a liquid is: /
TS ad Uy ® A arelt avg UR HTH B Tl §f 99 3:

1. Buoyant force and frictional force / 3cfldd dcf 3R TN 9

2. Gravitational force and buoyant force / Wﬁfm I 3R IAGH

3. Gravitational force and frictional force / WGFUT g 3R 0T §d

4. Buoyant force and centripetal force / S&ld® dd] 3R fNFH=1g §a

Correct Answer :-

« Gravitational force and buoyant force / Wﬁfm I 3R ICAdD §

51) The characteristic which helps us to distinguish one sound from another

sound having the same pitch and loudness is ./

fa=ivar @ < g9 JHH U SR 99T wWR @1 S8 919 U9 G+ 3 3
@afy § 3R uga # Uee Hd! 2l
1. velocity / aT

2. amplitude / STIMH

3. quality / TUTddl
4. frequency/ 3fTaft

Correct Answer :-

« quality / TJ0TdI

52) A body of mass ‘m’ is moving with a velocity ‘v’ along a straight line. If the
mass and velocity are doubled, then find the ratio of the final kinetic energy to
the initial kinetic energy. /

S 'm' $ TP ag A7 'v' & 1Y TP Aleh @1 & qHiaR 3 gedt 81 afe saa=
3R I B ST B fear Simar B, o sifaw nfaw et iR e nfas Seit &1



ST T DR |
1. 1:8
2.4:1
3.8:1
4.1:4

Correct Answer :-

« 81

53) The pitch of the sound is determined by: /

e &1 firg 3ad gr1 Ayl @1 9t 8:
1. Amplitude / 3TITH
2. Intensity/?ﬁaﬂT

3. Frequency/ &ITF{%T

4. Loudness/ Udddl

Correct Answer :-

« Frequency/ &nqi%r

54) The derived unit of the physical quantity, which is the product of mass and
acceleration is: /

Wfa® T 3t g0 P15, S SHHH 3R TR HT UG &
1. pascal / Ul¥ch ol
2. newton / g

3. joule / 91
4. watt / dic

Correct Answer :-

« newton / Ycd

55) What are the food requirements of dairy animals? /
3 uxpar Bt Wrer STaRgH A 1 82

1. The feed should include roughages and concentrates in balanced amounts /



gTey H HieT 9RT BT AT T Al Iferd HEm 4 g
2. Fresh green grass/
GISIRIRCIR]
3. Mixed feed containing dry grass, grams and other roughages /
TE 9N, 9 SR 39 HieT IR gad iy |

4, Nutritious feed with additives /

AT & 1Y NS T

Correct Answer :-

» The feed should include roughages and concentrates in balanced amounts /

W § el IRT §HT1 AT Ud Arsdl qferd O § &

56) A teacher always introduces the concept of atoms with the same

example.This shows he did not consider: / % f1&/® THIT TP Bl ISTEIU &
ATy URHATY[SAT B SGURN &1 Ulk<d <a1 g1 98 feamar g fr su i wr
faar a8t fora:

1. His/her student's previous knowledge. / 396 9 & fUsd I
2. The new facilities available to him/her. / 39 [TTT T8 ﬁﬁ?ﬂ\@ JUAH g
3. How to update his/her knowledge?/ ITH P HY 3TSe fbaT STE?

4. How to keep all the students attentive? / Tt B B AT HY W2

Correct Answer :-

« His/her student's previous knowledge. / IqH B & DA BIG|

57) Which of the following can be used for making students independent

learners? / fFruferfaa & | fraeT Iyt o &) wdad Rendf 9 & forw
fopan S g ar 82

1. ICT resources / \’rﬂ—&F’vﬂ?ﬁ Iq1eE
2. Assignment with long answer based questions / &Y TR TR Tl & 1Y

0T 71 BTG (S™TETHE)
3. Quiz / TYRRI

4. Group discussion / W EEl

Correct Answer :-



« ICT resources / GHW 1

58) Since 2014, T.B. related deaths were very uncommon. What does T.B. denote? /

¥ 2014 9P, &l Hafira dia 9ga s 41 6 379 A frd e fua a3
1. Tetanus bacteria / ¢eaq SaIaT

2. Taeniasis / afaan (?I’sﬁﬁlﬂ)

3. Tetanus toxoid / c\:c-li-l C\Id{-Iqu

4. Tuberculosis / J&HT (ﬂﬁmﬂ)

Correct Answer :-

« Tuberculosis / &HT C@L@Wﬁlﬂ)

59) A teacher discusses the difference between textbook theories and current
ongoing research on the same subject. This shows that: / T ﬁT&‘WT U é’f fawg
W TSI ® & fRAgidl S adH 6 °9d ¥ WY & § g 3iax W= ==t drdl
21 9g e=itan g f:

1. Science is tentative / Ta3M, W’-ﬂﬁﬁ%l
2. Science is interdisciplinary / ﬁﬁﬂ:f, 3R faug® %I
3. Science is rapidly expanding / fagm, doht ¥ foxar s 3ET %I

4. Science promotes questioning / TaFH, TaTA B &I dgTaT Sl g

Correct Answer :-

« Science is tentative / Ta3M, 1vT?-ITﬁT‘[%I

60) Which of the following does not reflect features of a well-developed learning

objecﬁve?/mﬁﬁﬁqwmmﬁmﬁmmﬁ
fawaren @) e T8 Hear 82

1. The teacher holds tests regularly. / TR1e/ fafid U I wler MAfId Har g

2. The teacher performs an experiment before the beginning of a topic. / Rrerep ot

[ &1 YH3Td W gl Ub YA HRll 5 |
3. The teacher explains a law and their uses. / e Udh e ek 396 ITINT DI

R Sl g




4. The teacher uses a mix of English and the local language in class. / fRr&r Hem

3Tl 3R RITY HIST I T BT U HRAT 5|

Correct Answer :-

« The teacher explains a law and their uses. / TQT&‘W Udh g G'ﬁT 3%b SUANT Bl
RS HRAT B |




